o

BFENERL

#4k

394

ZEE L7 X\, 2019 KK

1 an 25 aﬁ Jé:

fifl 3 (—3)X4—(—6) X4
FEHELZ2IV, 2019 &Ik

2 x IZ2oOWTOFER 3x—4=x—2a
DFENR S ThHhHEEX,a DIEZRDR IV,
2019 Ik

4 HoXH5iz, AABCd 5,
ZDEE,AABC 20 2908 LTREY
BB XK E2 X2 X0, 2019 KK




/l-l:)/f)qs

- _ 1

£ 753
) | 9
= - — 4 = B

+ ¢ AT
_ (

Ll.
R

1 Fﬁﬁ 25 ME\\ 4‘.5\

M3  (—3)X4—(—6)X4

EERE L7Z2EV, 2019 KK

= =2 = (- 2¢)
S -1142¢
— 12
—

2 x IZ2VWTOFERX 3x—4=x—2a
DfENR 5 ThHHEX,a DEZRDR IV,
LIS F1E X 2019 Z&Hk

I-X -4 = -2

1% -4 = 24

25 -4 = 20

0-4¢ = - 200
b -I&
20, = =b
n=-3

- =

4 ok, AABC b5,
ZDEE,AABC 20 Z2H.LE LTaEX
BB XE-HEE2 02X, 2019 KK

/ A A
o
ADaVA
Kf%;
A ( // TR S 5 AT
- 7 Tty & 5.
\NB I =t ﬁ(‘i— .




